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dbiEE 164 228 3,717
HHE 22 38 282
EFR 19 55 465
=HE 72 40 605
MHEE 30 65 584
Lz 8 48 57 750
=R 62 32 745
RIkR 52 21 228
N 36 31 187
HER 94 24 249
BER 45 27 450
FER 59 37 327
RIEH 77 27 262
HEJR 74 36 340
b ia 69 54 1,487
EILE 24 21 879
aINE 56 13 856
BHE 14 18 376
ILEYE 19 17 267
EHE 47 30 715
Iz B 12 36 66 875
Fa[E 12 69 24 1,042
BHIE 68 58 1,223
=58 60 56 1,226
HER 15 24 585
REBAT 17 27 510
A BR AT 24 28 424
EER 45 37 947
Z=RE 24 36 341
MR 43 33 572
BHE 84 19 629
ERE 34 34 571
fif] L2 41 27 945
LER 194 36 813
wng 33 39 1,206
EER 14 22 357
FIE 10 28 407
BIEE 29 32 691
S8 16 24 677
fafE 2 53 57 1,091
EER 17 23 626
RIGE 16 16 214
REARIR 22 26 423
N 21 24 465
=GR 28 21 451
BERBER 10 27 441
b 35 0 366
&t 2,141 1,715 31,889




